
Order your Spare Parts online here -> lightspares.com Worldwide Express Delivery 
Part or number not found? Send us a request! -> Contact us! 

 

 
          Your online store for all stage lighting spare parts https://lightspares.com 
         ©MS Lichttechnik GmbH, Hirschstettner Strasse 19A, 1220-Vienna, Austria 
  

Spare Parts List of Clay Paky Alpha Wash 575© 
 

020002/002 SH Bolt M3 x 8mm 

020002/004 Screw 

020002/009 Screw, Phillips Head, Gemini 

020002/011 Screw TCEI M4x25 Zinc 

020005/012 Screw 

020016/002 Screw, M4x6 UNI 5923 PP 

020041/003 Screw, Aftcic 4 2 x 16 Black 

020101/001 Nut Shelf Locking M3 

020106/003 Nut 

020201/003 Lock Washer M4 

020210/007 Washer Plain 4.4. 

020212/006 Apron Washer, Plated 

020217/005 Washer 

020412/001 Receptacle Type 991R2-1AF 

020413/001 Washer, Retaining, 1/4 Turn 

020430/001 Screw, 1/4 Turn 

030783/001 Motor KH42HM2-B04 1 Axle Wire 

080285/001 Stage Pan Rotat. Stop Pin 

080375/805 Col. Mixing Group Magenta In 

080375/806 Col. Mixing Group Yellow In 

080375/808 Wheel, CTO, Stage Color 1200 

080464/001 Apheric Lens D68 +0  +18 

082018/001 Spacer 

082057/001 Yoke Arm Cover Alpha Spot 1200 HPE 

082058/001 Yoke arm Cover, Alpha 

082060/001 Front Quarter Panel, Alpha 

082065/001 Alpha Front/Back Panel 

183006/001 Stop Wheel 

183060/001 Retaining Bracket 

211091/001 Central Crossbar Holder 

699137/001 PCB, Head, Alpha Wash 

699152/801 PCB, Pan/Tilt. Alpha Profile 
 
 

https://lightspares.com/
https://lightspares.com/contact
https://lightspares.com/

